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Past untaxed foreign income brought to !

VS W U TeH ol Rrega IR amifd 21This paper is divided into five Sections-A, B, C, D & E.
Section-A (Short Answer Questions) contains one question of ten parts requiring short answer. Aﬂ these
ten parts are compulsory, Sections-B, C, D & E (Descriptive Answer Questions) each contains two

questions. Attempt one question from each Section. Answer must be descriptive. @Us-H (Section-A)

9 WS § U W9 & X1 W oY, 3R 3naféra &1 S W 4 37 @1 21 This Section contains on question
of ten parts requiring short answers. Each part carries 4 marks.

PR 3 &1 R 3nef 22 What is agriculture income ?

Famer-<om & SR R aarast @ Re-Re it @1 77 87 What are the different categories of
assessees according to their residential status ?

A IR T TSR Y 70,000 . uferTe Yer e @R < #| e o ¥ R 20% Y99 & 91 7,30,000 .
U R T | 32 Ao o st <81 1 e TRT T 2 M Anshul Gupta receives Rs. 70,000
P.m. as pension from the Government. During the previous year he got 20% of pension commuted and
received Rs. 7,30,000 as lumpsum amount. He also received gratuity. What shall be the exempted
amount ? . p '

(2) Rs. 7,30,000 (b) Rs. 3,65,000 (c) Rs. 4,86,670 (d) Rs. 5,47,500 _

HSM Wi B e gea T BT &2 What is annual value of house property ?
%ﬁmﬁwaﬂmﬁﬁﬁ@éﬂm%mmé?

How is the written-down value of a block of asset ascertained ?

UsM, @19 R 319 a1 F9e &2 What do you understand by'capital gains ?

34 & Frem ¥ 3ng @ wwee €2 What is clubbing of income ?
mmmaﬁmﬁﬁﬁ@%m%aﬁ%gﬁahmmﬁ =

Can general business losses be sel off dut of speculation Profits ?

URT 80C @ WHETSe| Explain Sec. 80C.

AR FESRY| Income-tax authorities, -~ ° ' WUs-q (Section-B)

Section contains two questions, Attempt one question from e
marks. Answer must be descriptive. AEg Ar S
S 9 Tl B T 2016-17 A o g et S
Dr. Rishabh Gupta has the following incomes during the previous year 2016-17 ;
UG & SISt qu W RN 99 85,000 5. B P
Taxable salary accrued and received in Chandigarh Rs. 85,000. L
Sl 3 R B 3 R F 5 ¥0 90,000, Sl

Income from business in America but received in India Rs. 90,000
RIS B TR BN I 1 7T 3 o1el w0 82,000
Income from business in Lucknow but receiy in America R
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Mr. Tanish was appointed as general manager in a company at Bombay on 1st April, 2008 i the salary
grade of Rs. 80,000-2,000-1,20,000. He also received the following :

(i) Dearness allowance @ 10% of salary. (i) Conveyance allowance @ Rs. 250 per month

(iii) Medical allowance Rs. 500 per month. (iv) City compensatory allowance @ Rs. 2,000 p.m. :
He is also provided with a rant free house, fair rent of which is Rs. 50,000. Furniture provided in this
house worth Rs. 2,00,000. From 1st September, 2015 he was given a car 1800 CC, all the expenses _of. :
car including the driver's salary are paid by the company. Car is used for personal and business:
purposes. He contributes 14% of salary to his provident fund to which the company also contributes an
equal amount. Determine his taxable salary for the assessment year 2016-17.

T 2 3119 T S &7 wmﬁﬁmaﬁmmmmﬂma&aﬁr%mmﬁaﬁ#
THEIsEl What do you understand by depreciation ? How is the deduction of deprecuatlon can be avaaled
while computing income from business or profession ? Discuss. Qus-g (Section-D)
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He has to pay Rs. 5,000 p m“ta is md_
He took a loan to canst(_gct the house.



